— 3RS [HEREXRTTIH

‘Vl A — s ! 3“
“ B KEER s s ! 2O
| A 4 Yoo N 1 g
o’ /73 02 ) VL ¥ Ch
H R X IS & + H
1 2

34 5 @ e 1 8 9

SuA%E 10:00 | RBEXER | BEX.-TIN— | solve 16000 &<UA

74512 RER
KBRS 13:30 YRGB | anm= 1500 REFHRT g A
SO\ 2
10 11 12 13 14 15{\ bﬁ% 16
oA 10:00 | RBIERER TR D e | peze @
- HRERS T P N 9:30~11:30
17 o 18a8iExEs 19 205508 | 21 22 23
FUABER 10:00 |/TLTV/05 D | g T E<LAL, |¥7¥ 2EED
resgss 13:30 | TR R o oysiziin 8 A iE=smps | EEEE 11:00
Csormm | 24 25 26 217 28 29 30
10:00 HEEXET <L WL.O ‘.{D/_ .
IR ENRRSS 31 :

Al e

i £ By e

330 :[\ [ R o
Ew l4=°j° FEARE 10:00 IC-BEE mu}

REFMIRT 14:30/E<LA 13:00~13:30/FbEXFN—11:00~13:00/ 556V 16:00~16:40



